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Fig. 6.4. Spontaneous fission lifetimes as a function of the fission parameter Z2/A
for selected nuclei. Circles are for even-Z nuclei. filled circles for even-even nuclei
and open circles for even-odd nuclei. Squares are for odd-Z nuclei.
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Fig. 6.5. Cross-section for y**°U — fission [30].
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Fisg. 6.6. Levels of the systems A = 236 and A = 239 involved in the fission of
2387 and #*?U. The addition of a motionless (or thermal) neutron to ***U can lead
to the fission of 3®U. On the other hand, fission of U requires the addition of a
neutron of kinetic energy T,, = 6.0 — 4.8 = 1.2 MeV,
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